9 к л а с
ВІДПОВІДІ
Тестові завдання

	Рівень тестових завдань

	Номер тестового завдання
	Відповідь

	І-ий рівень
	1
	В

	8 балів (по 2 б. за кожну правильну відповідь)
	2
	Г

	
	3
	Ґ

	
	4
	Б

	ІІ-ий рівень
	1
	Б;  Г

	12 балів (по 2 б. за кожну правильну відповідь)
	2
	А;  Ґ 

	
	3
	Б;  В



10 к л а с
ВІДПОВІДІ
Тестові завдання

	Рівень тестових завдань

	Номер тестового завдання
	Відповідь

	І-ий рівень
	1
	Б

	8 балів (по 2 б. за кожну правильну відповідь)
	2
	А

	
	3
	В

	
	4
	Ґ

	ІІ-ий рівень
	1
	В;  Ґ

	12 балів (по 2 б. за кожну правильну відповідь)
	2
	А;  Г

	
	3
	Б;  Ґ



11 к л а с

ВІДПОВІДІ
Тестові завдання
	Рівень тестових завдань

	Номер тестового завдання
	Відповідь

	І-ий рівень
	1
	Б

	8 балів (по 2 б. за кожну правильну відповідь)
	2
	В

	
	3
	В

	
	4
	А

	ІІ-ий рівень
	1
	В; Ґ

	12 балів (по 2 б. за кожну правильну відповідь)
	2
	А;  Г

	
	3
	Б;  Ґ



